

Reappear Grade Sheet of B Sc_FT 1st_Semester_July 2020

			Chemistry			Open Elective-I						Wri	ting Semin	nar- 101 /	102 / 103					
		FSU002				OE						F	SU036 / F	SU037 / I	FSU038					
Sr.	Dog No	Credit Hours- 3					Credit	Hours- 3					Cred	t Hours-	3			Total Registered	Total Point	Grade Point
No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured			Grade Awarded	Earned Credits	Grade Points	Point Secured			Grade Awarded	Earned Credits	Grade Points	Point Secured	Credit	Secured	Average
1	1914301007	C	3.00	5.00	15.00	Biology of Human Body	OE009	B+	3.00	7.00	21.00							6.00	36.00	6.00
2	1914301015	F	3.00	0.00	0.00				N.A									3.00	0.00	0.00
3	1914301016										R.L									
4	1914301002	N.A						N.A			Writing Seminar- 102	FSU037	В	3.00	6.00	18.00	3.00	18.00	6.00	
5	1914301021	N.A							N	.A		Writing Seminar- 102	FSU037	В	3.00	6.00	18.00	3.00	18.00	6.00

Date of Issue: 31.08.2020

Prepared By Controller of Examination



Reappear Grade Sheet of B Tech FT_1st_Semester_July 2020

		Open Elective-	[
		OE									
Sr.	Dog No		Cred	it Hours-	3			Total Docistored	Total Point	Grade Point	
No	Reg. No.			Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Secured	Average	
1	1914302042	Mantras of Happiness	OE064	B+	3.00	7.00	21.00	3.00	21.00	7.00	

Date of Issue: 31.08.2020



Reappear Grade Sheet of B Tech BT_1st_Semester_July 2020

			Mathe	matics					
			CSU	J 377	m 4 1		Crada		
Sr.	Reg. No.		Credit l	Hours- 4		Total Registered	Total Point	Grade Point Average	
No	Neg. 110.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Credit	Secured		
1	1914303065	О	4.00	10.00	40.00	4.00	40.00	10.00	

Date of Issue: 31.08.2020

Prepared By Checked By

Controller of Examination



Reappear Grade Sheet of B Tech_CSE 1st_Semester_July 2020

	Reg. No.	В	asics of M	lanageme	nt	Objec	ct Oriented	d Program	ming				
			CSU	J101			CSU	J351				Grade Point	
Sr.			Credit l	Hours- 3			Credit I	Hours- 4		Total Registered	Total Point		
No	Keg. 1vo.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Credit	Secured	Average	
1	1954302004	В	3.00	6.00	18.00		N	.A	•	3.00	18.00	6.00	
2	1954302087	В	3.00	6.00	18.00		N	.A		3.00	18.00	6.00	
3	1954302095	B+	3.00	7.00	21.00		N	.A		3.00	21.00	7.00	
4	1954302100	В	3.00	6.00	18.00		N	.A		3.00	18.00	6.00	
5	1954302047		N	.A		A	4.00	8.00	32.00	4.00	32.00	8.00	

Date of Issue: 31.08.2020



Reappear Grade Sheet of B Tech CE 1st_Semester_July 2020

		Graphics Communication & Design FSU004				Prin	ciples of	Enginee	ring	Open Elective-	·I							
							FSU	016		OE								
Sr.	Reg. No.	Credit Hours- 3					Credit H	lours- 3			Credi	t Hours- 3	}			Total Registered	Total Point	Grade Point
No	Reg. No.	Grade Awarded	Earned Credits		Point Secured	Grade Awarded	Earned Credits					Grade Awarded	Earned Credits		Point Secured	Credit	Secured	Average
1	1951302020	В	3.00	6.00	18.00	A	3.00	8.00	24.00	Green Chemistry	OE033	P	3.00	4.00	12.00	9.00	54.00	6.00
2	1951302022		N.	A		F	3.00	0.00	0.00	Network Marketing	OE054	С	3.00	5.00	15.00	6.00	15.00	2.50
3	1951302021	N.A			В	3.00	6.00	18.00	Drug Abuse	OE020	В	3.00	6.00	18.00	6.00	36.00	6.00	
4	1951302018	N.A				A	3.00	8.00	24.00				N.A			3.00	24.00	8.00
5	1951302009	N.A				A	3.00	8.00	24.00			N.A				3.00	24.00	8.00
6	1951302008					A+	3.00	9.00	27.00			N.A				3.00	27.00	9.00

Date of Issue: 31.08.2020



Reappear Grade Sheet of B Tech ME_1st_Semester_July 2020

		Graphic	s Commu	nication &	t Design	Pri	inciples of	Engineer	ing	Open Elective-I										
		FSU004					FSU	J016		OE										
Sr.	Dog No	Credit Hours- 3					Credit l	Hours- 3			Credi	t Hours- 3				Total Registered	Total Point	Grade Point		
No	Reg. No.	Grade Awarded	Earned	Grade	Point Secured	Grade Awarded	Earned	Grade	Point			Grade Awarded	Earned	Grade	Point Secured	Credit	Secured	Average		
		Awarded	Credits	Points	Secureu	Awarded	Credits	Points	Secured			Awarueu	Credits	Points	Secureu					
1	1951304026	A	3.00	8.00	24.00	N.A				Robotics & Automation	OE049	P	3.00	4.00	12.00	6.00	36.00	6.00		
2	1951304018		N	.A	•	A+	3.00	9.00	27.00	Robotics & Automation	OE049	C	3.00	5.00	15.00	6.00	42.00	7.00		

Date of Issue: 31.08.2020